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2. How many elements are there in Period 2?8

4. Which element in Period 6 has the largest radius? C

S
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3. Which element in Group 13 has the smallest radius? B
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5. For the second element in Period 6,
a. Write its symbol &
b. How manyzlectrons ould it need to lose to make its electrons have a full outer

orbit? fwa

c. If this neutral atom lost electrons it would become ( / negative ).
d

. Predict the charge of this element after it forms its io _%

6. How many elements are there in Group 2? C

7. When neutral ¥Rt changes into Rb* ion, the numbefs of some pa%le(s) change.

a. ¥R has 32 protons 3; electrons neutrons
b. Rb'ion has 3 Z protons 3(, electrons H‘% neutrons

8.The number of neutrqons in a neutral atom is always equal to
its
a.protons

b.neutrons & OUCL‘ eAL—K

c.protons minus neutrons '
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